NTR

FF R W‘ =

ey 1393 A 0720 -

NTR A2 npoiIn1/ Carbon Steel C1008 4.6 :N2j71 YN NT79 210 »
fuk = 400 N/mmZ ; fy = 240 N/mm? »

L P |

"w“‘ E -*9 O‘I i : A2 NDOIN"/ Steel 8.8:2112N NT79 210+
. L - 4

| “ fuk = 800 N/mm? ; fy = 640 N/mm? »

NTR Bolt NTR Hook 5-8uZn ;|72 o
e (g
_' —— . ——— \_"; -g%
NTR Rod NTR Eye
(30-21p2) TTIA JA1Y'7 D'ONIY N'72D
M12 M10 M8 Mé [ayin a0
18 15 12 10 (mm) pynoip
36.0 25.8 20.8 16.7 Nru,cone
27.5 25.9 18.2 9.9 Nru,pull na'7y 5
'0N'B7IX 7WI ONIY o
356 20.1 17.1 10.1 Nrusteel = -
=
30.0 28.0 18.0 10.0 ) Viu M I
N <) X
128 121 85 46 Nrd noi7y - e
[>n ony E =
240 224 144 8.0 Vid nmm 5
oc
9.2 8.6 6.1 3.3 Nrec nat7y \7nin oDy =
171 16.0 103 5.7 Vrec mn nnwony
264 18.7 13.2 74 Nru,pull no'7y a
1uN'B7IX 7Y ONIY o o
30.0 28.0 18.0 10.0 Viu mmn o IS
kN = X
8.8 6.2 44 25 Nrec no'y \7nIn only 2 8
~
17.1 16.0 103 5.7 Vrec haus! v ony
10.6 7.8 54 24 Nru,pull noa'7v -
'DN'D7IN 7D onIy = =)
30.0 28.0 18.0 10.0 Viu nmm <] =
kN T X
35 2.6 1.8 0.8 Nrec N7y \7nIn only E g
~
17.1 16.0 103 5.7 Vrec mn nn'w ony
75 60 52 45 L [y X
85 70 60 50 hnom 1721011 Mpnn poly
75 60 52 45 heft [y napnin poiy
18 15 12 10 do [ID22 NIT'R 0IP
160 120 100 100 hio,min 17X [1D2 121y E
mm C
14 " 9 7 df TNXINN DINTXN T MIPNNT7 0IP E
150 120 104 90 Copt [ID2N NXPR '7XDD9IX PN E
113 90 78 68 Cmin [ID2N NN '7XPIM PNIN
225 180 156 135 Sopt DYN 2 '7XDDBIX PN
150 120 104 90 Smin 021N 2 '7X'N PN
75 50 25 13 Nm Tinst MpNN7 X701 DININ

.G&B Ltd |y in1 7y mrooiani ETA |pn 197 mawinn ,0/pnin niyswin 172,070 15 72 NIN9'Y7 |I'T 7112 DY ,30-2 [1022 TTIA 21y '97 00 01IN)
.N9'7W21 p1 DDA D' DUYXDIDDIXD D'PNINA .D'0NIY NNNYNA 01N DY7XN'DN DPNINA
21y 72 miwr 197 2WN7 W1 P7RNMD9IX PRAN 'Y N1 N7120N 21wnYT




Div" 197 NTR Aty v'n
("ETAG Annex C" '9'7 nbw9In 21w'n NIY)
nnyn
NN'W/0Y7NIN/0WIN'Y 0'0ONIY '9'7 X71 design |[2N '0NIY '97 0'121IYN DX D'AVUNN ETAG-N '97 -
D0'aWND |20 INX7,21IYN ININ NYNp ,|1I020 0N1p ,"Pull-out” N917W1 7w 1210 3197 [21lyN NX D1aWND -
71WNN 72N NX O'PTIA 91021 pry-out-1 AV ININ NY'P ,|IDAN NX¥P N7'TI2 7WI 110 3

no'7wa'7wd - 1
Nrdp=N’rp.fa "PULL-OUT" 197 w3 1.1
25-1(1b2'97 Pull-out N9'7w2 piyn 7w ‘781010 2N pTIN Nord,p
B [ID2N 210 NY9WN OTpPN fg
kN Nord,p
M12 M10 M8 M6 pIyn o
1.7 11.0 7.7 4.2 NTR - Bolt/Rod
12 79 58 32 NTR Eye 1na
PITOX7
45 33 23 1.0 NTR Hook
fo=( fek )0,5 C50/60 C45/55 C40/50 C35/45 C30/37 C25/30 C20/25 |12 210
B=(5o
25 155 148 141 134 1.22 1.10 1.00 fg
Nrdc=N°rac.-fi . fan - fan [Ipan onip 197 7w3 1.2
|ID2N 0NIP '97 N9*7WA [V *72'D1 |IN PTIN Nord,c
[ID2N 210 NYSWN OTPN fa
omynapnmnyswnomn | fan
[N n¥pR pnm nyswnoTpn | faN
Nord,c =10,1. (25)0’5 . heff1 E /1500  {PITO X7 |ID27
kN Nord’c
M12 M10 M8 M6 [y 210
75 60 52 45 heff
21.8 15.6 12.6 10.1 PITOX7 |12
fo=( fek )0,5 C50/60 C45/55 C40/50 C35/45 C30/37 C25/30 C20/25 |Iban 10
B=(7
25 1.55 1.48 141 1.34 1.22 1.10 1.00 fg




S 01y 2 2 PN nyawn 0T fan
fan=05+——

6 heff M12 M10 M8 M6 [yn a0

75 60 52 45 heff —
02V 2 N0 Nyawn 0Tpn Fan 0.68 0.72 0.76 0.80 80
XapwiXspy 2pnn | 5122 0.70 075 0.79 083 90
0.72 0.78 0.82 0.87 100
TIN7 DDTPRN X 79377 V! 0.74 0.81 0.85 091 110
.'|75IN IN1JIX |II'3 197 TN IX 0.77 0.83 0.88 0.94 120
fan="Fansi-2. fansi-3 0.79 0.86 092 1.00 130
: 0.81 0.89 0.95 140
<2 S 0.84 0.93 1.00 155
@ @ 0.86 0.94 160
0.90 1.00 180
513 0.94 200
@ @ 1.00 225

c 1027 NXPR PNAN NYSWN 0T frRy
fan=0,5+0,25- —
heft M12 M10 M8 M6 piyn a0
75 60 52 45 he c
(mm) 102N NP TY PNIN | C | 0.63 0.67 0.69 0.72 40
0.67 0.71 0.74 0.78 50
0.70 0.75 0.79 0.83 60
0'DTPRN DX 7'9207 V! 0.73 0.79 0.84 0.89 70
.0111'N ‘727 TN IX TINYT 0.77 0.83 088 0.94 80
101N N9 PIY XDATT 0.80 0.88 093 1.00 90
fan = frny - faniz 0.83 0.92 0.98 100
_______________________ 0.87 0.96 1.00 110
i & 0.90 1.00 120
i 8 0.93 130
i C 0.97 140
1 #,
| . <> 1.00 150
| (x)
1
1 [Ib2n N¥p. " " 4
Nrd,s =Nrks /1,5 jIyn Inin1'7v3 1.3
¥ Nrd,s
i M12 M10 M8 Mé [ayn a0
237 134 114 6.7 kN
Nra =min {Nrap, Nra,c, Nra,s} N9'7wa'7vwo Do

Nrd > NIN7 17X 19792 2IYN 7V 7¥9I0N |20 ODIVA




MMy -2

Vid,s = Vrks /1,25 Jalyn nIna 7w 2.1
] Vid,s
i M12 M10 M8 Mé [yn o
24.0 224 144 8.0 kN
Vrd,c= V°rd,c fg.fyv.fary [ID2N ¥ 197 '7WI 2.2
N7T2 21N 79 7X011 [2N TN Vord,c
[ID2N 210 NY9WN DTN fg
(102N A¥f 111 7y9IMN NRA 1 A N nyswn oTm | fyy
D'AIYN 2 PNA0IHIDIN AR pnn nyswn oTim | fary
(mm) iynoip d
(mm) piynmpnnpny | hest
(mm) (Iv2an N¥P TY PRI C
a=0,1. (heff/c)o’5 Vord,c= [24.d% heffB . 250'5 7 1/1500 110 X7 1027
B=0,1.(d/0"
kN Vord,c
M12 M10 M8 M6 piyn o
18 15 12 10 d
75 60 52 45 heft c
5.73 5.25 4.90 4.64 50
7.21 6.65 6.24 5.92 60
8.78 8.13 7.66 7.29 70
12.16 11.34 10.74 10.27 90 =
13.96 13.06 1239 11.87 100 ‘E
17.76 16.69 15.89 15.26 120 E_
21.81 20.56 19.64 18.90 140
26.08 24.66 23.61 22.76 160
30.57 28.98 27.79 26.84 180
35.27 33.49 3217 311 200
47.81 45.59 43.92 42.59 250
61.43 58.75 56.73 55.11 300
fom (ﬂ )0,5 C50/60 C45/55 C40/50 C35/45 C30/37 C25/30 C20/25 |Iban 10
25 1.55 1.48 141 1.34 1.22 1.10 1.00 fg
90° 80° 70° 60° 50° 40° 30° 20° 0° y
25 2.32 1.97 1.64 1.40 1.24 113 1.05 1 fyv
""""""""""""""" [ID2N N¥P'7 N'ON' N2 ONIYN NN | Y |
& 1 ) )
é; fov= /(cos y)2 +(0,25 . sin y)2 O s vs
JID2N NYP'7 72pPNA NIDN 2N NX PR AYNT W ,90°-p N7ITa Nt NTNA
e |IDAN NYP'7 190 |12 1Y NI2N 22N 2AWNNNYT 1IN |'X




faRy = 1 TTA YT *

1 *
(mm) NpP'TIAN |11 197 |ID2N N¥P TY PN c . 3457452453+ o+ St D221y N¥IpY7
ARV =
(mm) |Ib2N NP DY 73P0 1R '97 DAAYN 2 PNIn Sx 3nc
[ID2N N¥P7 NANP 2N NIYAD 021y 190D n

mm | ETAX9NX [N 7 NIyt

6|14 |12]10] 8|6 pIvA 0P i ' i
18 16 14 12 9 7 NTNXINNT79217IN i @ @ " @ @ @ E
! S1 S2 Sn-2 Sn-1 ]

mm | ETAXanX [pn 7w niwnT i . E

30 | 27 | 24 | 22 | 20 | 18 PIvn 0P i @ @ @ I @ i
3330 | 26| 24| 222 DY AT792IN —— £ !

N7 21Y7 2 NDXNN 1NN X7177'D2 (1720 NXY) [1YN 101P DY NTRYINN 17792 1IN0 DX O'XNN7 W' ,ETA 2001 'X9IN'X [N 197
2PN 0221V NIY1A 1 17722 2WNNNY7 7211 021yN NNIY |'2 17722 DIND 12yn N'D2N7 NINYOX 'Y 1IN0 170 IXNT792
Jiban NP7 N

Vrd,cp = k. Nrd,c Pryout 97 '7¢3 2.3
h<gonm | 1 ‘
h>60nm | 2
(1.2n97wa7waaiwnax1) | Nide

Via =min {Via,c, Vrds, Vrd,cp} T2 7WO Do
Vid > NIN7 11X 197w 21Y0 7V 7¥9100 DN 0NDIVI

A7ivnn oniynvY77v) -3

[2yn 7y '7y9inn N9'7wa [N only Nsd
VA 7Y 7V9IDN N2 2N 0Dy Vsd
1, 1 (Nrd,c; Nrd,p) DIDIM = NRd,concrete
Nsq i Vsq )5<1 rd,c rp)
NRd,concrete VRd,concrete - (Vrdc Vrd,cp) DM = VRd concrete
Nsd 2 Vsqd 2 Nrds = NRd steel
) + ( ) <1
NRd steel VRdsteel Vids = VRdsteel




11pna 1T

AN nTp7 (1

(
JMX N7 OY NN DX N7 (2
NTR 2Iyn NX 01217 (3
(

UITIN DINIDN 197 PIYN NX 1107 (4

D'0”pnINITN

ody
¢ di

NTR Bolt
8.8nNT179
WIp nin 2y miy NI nIrn [iyn 0P
niion .0j70 TNXIN nmp 2T 2112N0 nam "0 DM N
SW tix hy L do !
(mm) (mm) (mm) (mm) (mm) (mm)
10 5 55 45 6x50 10 TNTRV06 NTR Bolt M6
13 8 65 52 8x60 12 TNTRV08 NTR Bolt M8
17 20 85 60 10x80 15 TNTRV10 NTR Bolt M10
19 15 95 75 12x90 18 TNTRV12 NTR Bolt M12




S| 5
St IS
A, ----4.-------".:-(.
heff
hy
NTR Bolt
304 NboN"1
|10 121y mpnn pniy iy IX [yn oI
XD - 727211 01p nam
hp,min heff h L (n?:n) do D’pn DM9 AN
(mm) (mm) (mm) (mm) (mm)
10 45 55 45 6 10 TNTRVIO06 NTR Bolt M6 SS
13 52 65 52 8 12 TNTRVIO8 NTR Bolt M8 SS
17 60 85 60 10 14 TNTRVI10 NTR Bolt M10 SS
19 75 95 75 12 18 TNTRVI12 NTR Bolt M12 SS
|10 121y iy iy TIX [yn oI
'7XNIM mpnn nTp DT nm
hp,min heff h L (n‘:;]) do D’ DM9 AN
(mm) (mm) (mm) (mm) (mm)
100 45 50 45 6 10 TNTRO6 NTR M6
100 52 60 52 8 12 TNTRO8 NTR M8
120 60 70 60 10 15 TNTR10 NTR M10
160 75 85 75 12 18 TNTR12 NTR M12
NTR Stainless Steel 304
D221y iy iy IX [y oI
hislils] mpnn nTp rnHaane nam
hbymin hett hy L dj do b ls} DN9 NN
(mm)
(mm) (mm) (mm) (mm) (mm)
100 45 50 45 6 10 TNTRIO6 NTR M6 SS
100 52 60 52 8 12 TNTRIO8 NTR M8 SS
120 60 70 60 10 14 TNTRIT0 NTR M10SS
160 75 85 75 12 18 TNTRI12 NTR M12 SS




NTR Rod

580779
ﬂ - L
| - -
IR aninay oy IX nTn [yn oI
nion .0pn TNNIN nITp q2T1an M i FRAT
SW thix hy L do D*p D IX
(mm) (mm) (mm) (mm) (mm) (mm)
10 15 55 45 6x70 10 TNTRBO6 NTR Rod M6
13 35 65 52 8x100 12 TNTRB08 NTR Rod M8
17 48 85 60 10x110 15 TNTRB10 NTR Rod M10
19 53 95 75 12x130 18 TNTRB12 NTR Rod M12
NTR Eye
[ID2 21y 7w 019 1DIP miy TIX nimn [y IR
17XnM "vin nmp 2T 212N N ,
D" D9 XN
hb,min @ hy L do !
(mm) (mm) (mm) (mm) (mm) (mm)
100 10 55 45 6x50 10 TNTRCO06 NTR Eye M6
100 11 65 52 8x60 12 TNTRCO8 NTR Eye M8
120 14 80 60 10x80 15 TNTRC10 NTR Eye M10
160 16.5 95 75 12x90 18 TNTRC12 NTR Eye M12
NTR Hook
|12 121y 7¢ 019 DI miy TIX niTn [aiynoip
17800 |"vin nTp eI@plEn)| nm .
n’pn D9 1IN
hbmin 2 hy L do !
(mm) (mm) (mm) (mm) (mm) (mm)
100 8 55 45 6x50 10 TNTRG06 NTR Hook M6
100 10 65 52 8x60 12 TNTRGO8 NTR Hook M8
120 125 80 60 10x80 15 TNTRG10 NTR Hook M10
160 16 95 75 12x90 18 TNTRG12 NTR Hook M12

054-7976110 n”y2a D'TX N12N 0TIAN'7 NII9Y7 X2 ,N90I11 N'7XVY '702




